Section A
Event Name Tuesday Eve Session November 2, 2021
Leaders after 7 rounds Average: 42.0
Place Pct Score Pair
1 69.05 58.00 A-10 Bill Curtis - Chris Bookless
2 59.52 50.00 A-8 Diane Emond - Don Emond
3 58.93 49.50 A-6 Noreen McGowan - Lorraine Hoyt
4 54.17 45.50 A-7 Jan Ogilvy - Darwin Wreggitt
5 50.60 42 .50 A-9 Bob Walsh - Bill Grandy
6 46.43 39.00 A-2 Dick Smith - Cheryl Smith
7 46.43 39.00 A-4 Nick Smart - Bob Swallow
8 43.45 36.50 A-5 Pat Wiens - Tip Evans
9 38.69 32.50 A-3 Kathy Luxemburger - Lene Nielsen

10 32.74 27.50 A-1 Lynn Pigage - Lee Pigage

TOTALS 420.00
FVENT>Event Name | SESSTON>Tinesdav Fue | SRCTTON> A
PATESNowembar 2. 2021 |CTUR NO.> 177770272027 20280
nTR> BiT1 irRaTTNGS T [MOVFMENT>ONF. WTINNFR
AVE> as.0 jToes a4 ' T cToRSwhAC
SATRAL IR T TUTTTTTTT TTTTTTTTTTTTTTTTTTTTTTTTT LTI Ll
————————————————————————————————————————————————— L O'alll Section I [
No Name Name | Rank]| Rank|Score | Pot |
"1 Lynn pigage Lee Pigage T T 27.50 32.74

2 Dick Smith Cheryl Smith 39.00 46€.43

3 Kathy Luxemburger Lene Nielsen 32.50 38.69

4 Nick Smart Bob Swallow 39.00 46.43

5 Pat Wiens Tip Evans 36.50 43.45

€ Noreen McGowan Lorraine Hoyt 3 3 49.50 58.93

7 Jan QOgilvy Darwin Wreggitt 4 4 45.50 54.17

8 Diane Emond Don Emend 2 2 50.00 59.52

9 Bob Walsh Bill Grandy 42 .50 50.60

10 Bill Curtis Chris Bookless 1 1 58.00 69.05

— - Totals 420.00
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